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“Introduction to Problem

* Sometime photons that hit BCAL lie nearly right on
top of one another

o Here: a m° particle decays to two photons (y; and )
o Both about at 4 O’Clock
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~ First Approach

* Maybe the BCAL showers contain enough info to
guess already?

Public Attributes

float E

float E_raw
float E_preshower
float E_L2
float E L3
float E_L4
float x

float y

float z

float t

float sigLong
float sigTrans
float sigTheta
float rmsTime
int N_cell
int @

- Energy by layer

-:I- position

] How big, in a few directions (space+time)
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- MC Sample
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Background rejection
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